Calculus BC – Chapter 5 - Even Answers (F.T.D.W.)
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Section 5.1

2. (b) SLeft = 25

SRight = 20

SMidpoint = 21.25

4. (b) SLeft = 15

SRight = 10

SMidpoint = 12.5

6. (b) SLeft = 65

SRight = 100

SMidpoint = 81.25

8. 

	n
	SL
	SR
	SMid

	10
	35
	37.5
	35.625

	 100
	35.7125
	35.9625
	35.83125

	1000
	35.820875
	25.845875
	35.8333125


10. 

	n
	SL
	SR
	SMid

	10
	40.96
	58.56
	49.12

	 100
	48.4576
	50.2176
	49.3312

	1000
	49.245376
	49.421376
	49.333312


12.
	n
	SL
	SR
	SMid

	10
	1.07648...
	.91940...
	1.00102

	 100
	1.00783...
	.99187...
	.99988...

	1000
	1.00078...
	.99921
	.99999...


14.

	n
	SL
	SR
	SMid

	10
	17.67064...
	17.50527...
	17.61632

	 100
	17.61493...
	17.59839...
	17.60694

	1000
	17.60768...
	17.60602...
	17.60685...


16. 12.5,82,35.83, 49.33, 1

18. Make sure you have loaded your 

calculator with an “Area” application 

to compute SL , SR , SMid , STrap 

20. 25

22. 25

24. 0

26. 
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28. 0


30. b


32. � EMBED Equation.DSMT4  ���


34. � EMBED Equation.DSMT4  ���


36. � EMBED Equation.DSMT4  ���


38. 56


40. 121


42. 0


44. 0


46. (a) 0


(b) 250


(c)  n


(d)  1 – n


48.  94.8126...


50. 41,417,000


52.  n2 


54. SL is the sum of inscribed rectangles while SR involves circumscribed or superscribed rectangles.


56. � EMBED Equation.DSMT4  ���


58. (a) both = 55


(b) SR has an (unshared) extra rectangle at the end with area = f(xn) � EMBED Equation.DSMT4  ���.


SL has an early rectangle (unshared) with area = f(x0) � EMBED Equation.DSMT4  ���.





60. sin x0 = sin 0 = 0


sin xn = sin � EMBED Equation.DSMT4  ��� = 0. Now see problem #58


SR = SL + f(xn) � EMBED Equation.DSMT4  ��� � EMBED Equation.DSMT4  ��� f(x0) � EMBED Equation.DSMT4  ���. This explains why SL = SR (in this case!).


62. � EMBED Equation.DSMT4  ���


= � EMBED Equation.DSMT4  ���


= � EMBED Equation.DSMT4  ���


(use the Sn = � EMBED Equation.DSMT4  ���) 


= � EMBED Equation.DSMT4  ���.


Now � EMBED Equation.DSMT4  ���.


64. As in #62, � EMBED Equation.DSMT4  ���.


Here you’ll need to use the � EMBED Equation.DSMT4  ��� formula to get: � EMBED Equation.DSMT4  ��� 


66. As in #62, � EMBED Equation.DSMT4  ���.


Here you’ll need to use the � EMBED Equation.DSMT4  ��� formula to get: � EMBED Equation.DSMT4  ���


68. 125/3


70. 125/3


72. 625/4


74. 16


76. Number of dots in square & triangle = dots in the trapezoid.
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